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1. FSKEATRIAD -
Yr=1Z" =7 Z#1 (273)
2% Z=cosx + isinx, x BHEH, FHBHA:

. nx
sin—- (n+1)x

cosx+c052x+cos3x+~--+cosnx=sin; cos =, sin%io (10 43)
2

RE% (cosx +isinx)™ = cosnx + i sinnx, 55

1 Z”+Zin=2cosnx (3 47)

_ 5t=10¢34¢5 _
2. tanbdx = ——"——o, t=tanx (6 77)
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2P0+ =7 (4 453)

2. B f(r)=r?(2r? - 1), 3580

f@r) = fer—1) = (2r —1)° (3 4)
PR
2, a(2r ~1)° = 3n2(10n7 = 1) (5 43)
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a1 —S, <107, i n HUB/NEERR(E. (2 99)
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3. BIMTRAEEZEEERE  FHARRES 45 HE EsE T 5E - FERE
5/ \FEEHEAREEE (BELEA > AgFER) (55)
WRES 2n FEIFMEFEMAXEEE (10 )
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n
Cosr = ) CiCocy
i=1

£ B Co=1 (10 43)

4. TEFHEH EAEZEE (xuy1), (X2, y2), (%3, y3). 3 M =(ERSE R = AP ERE
fal (10 27)
—HEZERETUEEL (x1, 91, 21), (X2, y2,22), (X3, V3, 23), (X4, Ya,Z4). EE[H LO{EBE
B RHITL TRERRTE A (15 77)



